3PNy Jemoqg

| HS-A

iR

FEREA

L IZ e STl
£ PR, RIERE, Fo K

MWEZMERPTE RETHRER)
(254mm - 304mm

e 3-Jaw 12T, 1B 55 7758, BIMYINARIREE, == shhR&

B HS5HEERNXR
HS-05 / HS-06 / HS-08 HS-10 / HS-12
—_— 140
80 130
70 + 1) HS=10 ~HS=12
. ~ i —
50 HS—06 \ 90 \\
L i X
? 40 ﬁ ~N E gg \\\\
—
2" g
% 10 -% 10
0 1000 2000 3000 4000 5000 6000 0 500 1000 1500 2000 2500 3000 3500 4000 4500
Speed : min™ (r.p.m) Speed : min™ (r.p.m.)
P Em g
HS-10A06 HS-10A08 HS-12A06 HS-12A08
Spindle Nose A2-6 A2-8 A2-6 A2-8
&7 [mm] 77 77 91 91
B ER Max. [mm] 254 254 304 304
BIFER Min. [mm] 31 34 42 50
RMITIR(ER) [mm] 8.8 8.8 106 10.6
HEZEITAE [mm)] 19 19 23 23
VFHIRARIN [kN(kef)] 43(4385) 43(4385) 55(5608) 55(5608)
AVFRIERAIER T [KN(kgf)] 111(11319) 111(11319) 144(14684) 144(14684)
AFHIRARALE R [min'] 4200 4200 3300 3300
52 [kel 415 40 67 64
B4R [N - mikg - m9)] 12.75(1.3) 12.65(1.29) 30.6(3.12) 30.0(3.06)
&R Cylinder SH-18077 (SYH-1877) SYH-18077 (SYH-1877) SYH-2091 SYH-2091
RAIRTERESI[MPa(kgf/cm?)] 2.7(27.5) 2.7(27.5) 2.7(27.5) 2.7(27.5)
EAEM HB10A1 HB10A1 HB12N1 HB12N1
KITAGAWA® Model B-210A6 B-210A8 B-212A6 B-212A8

¥ AFNBRAFRUTIMER & R SMEATRER B A MERMERE,
% HS-10A06 5 HS-10A08 BJ AT 75mm 5 77mm 1&FL.
% =T EHRIIETRA Kitagawa #2{i OEM 47~



\

HS—-05

KNT RERESD, FESXINDBR2IRI Lo

FmRY

SERRATION PITCH 1.5

BILEEE © @77~ @91
*H5EE ¢ @31~@304

>

()

ac

p=d
[al

©
=

A
P

ey
. %
SeEE=
ST L e SF > %ﬁ: L
ol = Uik 5 = e TU ]
Sl 8  PEsI TS =
e -‘ g{ =
( / f @ L <£> B
Fig—2
K/ Ll
C o B
HS-06~12 Fig—1
HS-10A06 HS-10A08 HS-12A06 HS-12A08
254 254 304 304
120 113 129 122
220 220 220 220
106.375 139.719 106.375 139.719
25 18 25 18
5 5 6 6
1334 1714 1334 190
1714 1714 1714 1714
77 77 91 91
6-M16x100 6-M16x120 6-M16x110 6-M16x130
185 24 185 25
30 30 30 30
51 51 613 61.3
46.6 46.6 56 56
33.75 33.75 45.75 45.75
1425 1425 1575 1575
335 26.5 33 26
14.5 7.5 10 3
40 40 49 49
16 16 21 21
25 25 28 28
2 2 2 2
M75x2 M85x2 M90x2 M100x2
6xM12 6xM8 6xM12 6xM8
94 94 108 108
45 45 50 50
43 43 50.5 50.5
110 110 1 m

¥ Draw-nut BIVEGFSRINTH, "K' 7 Draw nut RABLIN TR,

% HS-10A06, HS-12A06 22 Fig-2.

RELATED PRODUCT I @]
H/S Jaw Cylinder

256p 106p

Power Chuck



	动力卡盘 22
	动力卡盘 23

